Name KC\/ Common Core Algebra Review

tPart I: Select the letter of the correct response.l

1. What are the zeros of the function f(x) = x* — 5x — 6? KX L)} ) (X .‘— \ \ N C’)

. X—4L =0 X+1=0 ;
(@) (6,1} ®) {-6,1} © {2,-3} @ {2,-3} X= 7 m,j

2. Which expression represents the area of the square shown?

. 2
: -3
(a) 4x> -9 (b) 8x=12 @4x2—12x+9 (d) 4x* —6x -9 H’XL—JZXJFﬁ

3. A taxi ride costs $2.50 for the first mile and $0.75 for each additional half-mile. If x represents the number of
additional miles ridden, which function accurately represents the cost of a ride in this taxi?

(8) 06 =2.50 + 0.75(2x) © coy=250+0756c+3 X SINCE iﬂ iD R
b) C(x) =250 +0.75¢ d) C(x)=2.50 + 0.75(2x — 1 TNC O v
v @ @ e e ha | £ an addihmal

o L : ; . Y\fl:lf} WT do ,75(2x)
4. Which is the correct representation, in interval form, of the inequality shown in the graph below? ﬁ) H’\‘C

<G @ . (Oweessey- COH‘CJC‘&G’\

thonad nmiley
5 4 3 2 a1 0 1 2 13 add

(@) (-0;3] N (1,00) @ (-00,-3] U (1,00) ) [-3,1) d) (-3, 1]
5. What is the domain of fix)=+vx + 4 ? X _(, /l( > O
(a) x> 4 @X2-4 (c) x>0 (d) x<—4
e ; T
6. What point lies on the boundary line of 2x — 6y < 24? g 5
—-2_ L_‘i /3
(@ (.6) (b) (0,0) ij7 4 © - @ ] ; =9
2
. 0
7. Which could not represent the lengths of the sides of a right triangle? O 6@) J-(‘(_J U\\{f)
@6 9,12 (®) 912,15 - (©) 5,13, 12 , @ V6,v6,v12
24q%=|2* +12 L= =
%e ret 7 ML wa HL‘M = 225 .,/ ‘Dls—[:u—m =1cav (\(—) ZES)M £" Iz)

8. Which data set has the greatest variability from the center as measured by its interquartile range?
G, Q2 (}5 i
(a) 3 n 8810 2, 15TG6R= § {c) 17,11 I:JMQ @O! 21,;_2\23 RS
(®) 2/6)78)9, 1120 1gR= & @20\/@0,@?& 30,30,30 LER= IV
G\ 6} Gk, QL Q

9. Joe bought a car 6 years ago for $24,000. It has been depreciating at a rate of 19% per year. Which expression
represents its current value? A al_l 0 QC‘( \ - .1 q)

=

(a) 24,000 (0.81)° (b) 24,000 (1.19)° (c) 24,000 (0.19)° (d) 24,000 (533)



Anyffrww'ﬁmo@dLKu? 4

10. Which of the following represents the sequence -3, -2, 0, 4, 12, 28? P"f‘:t‘/xt\ig

(a) a(n)=a(n-1)*+4 (b) a(n) =2-a(n-1)+4 ) (c) a(n) =a(n—1)+(n+1) (d) a(n)=2-a(n-1)-4

ex) ad)=a@)t4 a(4)=+4
11. What is the difference when (2x° — 9x* + x —4) is subtracted from (x° — 6x* + 2)? X ~bx 1‘2 -4 X +4 Xy

(@) X’ ~3x"+x-6 (b) x> - 155 +x -2 (c) -x3+3x2—xiy (d) x*—15x>+x-2
- | o — )33 XH b
12. What is the equation of a line perpendicular to x + 3y = 6 and passing through the point (0, —4)?$-
1 ==\t 2 mil=3 (ﬁ"ih'}'ﬁﬂ‘f'p'}
—4 (b) y=-1x-4 3¢ y=3x-14 @ ~4y=3x S\ _ _4

wlr—a

(@) y

13. Which of the following functions is quadratic? ( com mon ZM &{ / Ff‘(’ FCriie )

(@ | x y @/ X | ¥ © | x| ¥y d | x|y
2 -5 }1 0 IQ“}"] 0 OQ.-,Li -1 1/2‘) YA
1 1|2 JYrZ 1| 4 0| 14
0 -IQ“l 2 | s3|t3 14> 4 | 1691 1 é)ﬂ
1| 12*> 3 [109+5 9 | 36¢|"4 2| 4 2
Lineor Ouvacrahc Exponenfad  Exponentd

14. Which of the following represents an upward vertical shift of the parent function: y = [x|?

D y=K+z ) ) y=2 ] © y=lx+2] (&) y=k-2]

15. What is the value of f{—1) for the function defined as follows? - .
x+5, x€=3 .]C (—|)F2(—l)
Jo= 2x L Adx<l ™ .)f,(—l)':-—
x—4, x>1

(a) 4 ® =2 O\ (e} 5 () T isundefined,

16. Two hot dogs and a soda cost $3.50. Three hot dogs and 2 sodas cost $5.75. What is the cost of a hot dog?

= “2(2h4§=3.57)
(@) $1.00 @) (c) $1.50 (d) $2.50 3 s e

Discviminant: b*-qac -+ ~dh-28=-7
t3h+2S =575

17. Which correctly describes the/number and nature of the roots{ of X -8x+10=0? =y
—N=-}2y
(a) No real roots (b) One rational root (c) Two rational roots W h=l1s

R/ W
18. Which is an example of bivariate data? 10 - g
(a) heights of all the boys in the 8™ grade C =10
(b)) grades received on amath and a science test for one class of students N1
(c) ages of people at a conference (’*5}) -4 (1) (\OB
(d) favorite flavor of ice cream for all students in the school Lo +40

o









